m Parts Breakdown 6075D
V/7l11,db iy

Page 1 of 2 8/18/2010



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

@00@\10’)01#@[\3—‘\)5
+

10

12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
47
48
400
400
401
401
403
500
500

/ |

b A A &

Part ID
911143-2
911163-6
181974-5
343421-6
343410-1
251322-3
410936-9
763083-890A
763132-190A
251451-2
321995-7
211061-7
961015-1
231250-8
253330-0
221862-5
257073-6
221884-5
253330-0
231250-8
253807-5
214017-9
629557-8
651354-4
961002-0
253842-3
211016-2
253804-1
226234-9
216011-7
223086-9
231927-5
256101-4
257141-5
341902-4
216401-4
253851-2
164840-1
226062-2
214019-5
256119-5
168096-8
232053-3
411640-3
181974-5
531057-5
856431-9
163157-9
342833-0
191679-9
784202-3
784202-3
824431-7
824616-5
414938-7
***DC1414
***DC9710

Parts Breakdown

Part Name
P.H. SCREW M4X22, 6211D
P.H. SCREW M4X35, 4014NV
HOUSING SET, 6073DW
GUIDE PLATE, 6093D
CAM PLATE, 6093D
P.H. SCREW M5X12, 6093D
CHANGE RING, 6400D
KEYLESS DRILL CHUCK
N/A
P.H. SCREW M5X22, DA391DW
SPINDLE, 6095D
B. BEARING 6000LLB, 6222DWE
STOP RING E-9, BO5021
COMP. SPRING 10, 6012HDW
T. WASHER 10, 6012HDW
S. GEAR 78, 6012HDW
RING 16, 6012HDW
S. GEAR 93, 6012HDW
T. WASHER 10, 6012HDW
COMP. SPRING 10, 6012HDW
F. WASHER 5, 6012HDW
P. BEARING 5, 6043D
MOTOR, 6073DW
SWITCH C3BF-AJ FOR 6093D
RETAINING RING S-6, 6012HDW
F. WASHER 14, HR2410
B. BEARING 626LLB, 6300LR
F. WASHER 6, 6012HDW
SPUR GEAR, 6073D, T2
STEEL BALL 5.6, 6222DWE
CLUTCH CAM, 6093D
COMP. SPRING 16-21, 6012HDW
PIN 3, 6012HDW
RING 8, 6093D
DISC, 6012HDW
T.N.GAUGE 1023,6222DWE
F. WASHER 8, 6012HDW
SLIDER, 6093D
GEAR 12-28, 6012HDW
P. BEARING 4, 6043D
PIN 3, 6012HDW
SHIFTER, 6012HDW
LEAF SPRING, HP2030
HOLDER, 6043D
HOUSING SET, 6073DW
N/A
NAME PLATE, 6075D
SET PLATE, DA391D
SET PLATE, 4071D
BATTERY 7000
#2 PHILLIPS BIT 2-45, 6095D
#2 PHILLIPS BIT 2-45, 6095D
PLASTIC TOOL CASE, 6075DW,T2
PLASTIC CARRYING CASE,6891D
BATTERY COVER, 6222DWE
N/A
N/A

Page 2 of 2

Quantity

RS L U (U UL (UK (U (UL UK (UK UK UL UK S L U IS U UL U S IS U UK UL U U O QU UL U UL S UK U UL U A S S (K U (UL WU (L I (UL I (I U G U O IR G =N S I e )]

6075D

8/18/2010



